Z1- 12+ HWG
SOL ‘NS

Claym*

O VA nAL A
Le+ XGAVDA?_ Then )D/X and Q,XJ so

+he rorime LacHot1zaHon o‘P X contains P < 7 . Thuys

M
x = pq - [0 ke the [ ok the other prime FacHors of
X, s xe Al"t- Thus A\,HA{ QAF‘L-
Cla ™"
i) Aoq € A OA?_. Le+ ve Agg T hea —?él—,e Z,

X X XX
- 7{62 (M\Ct {'P@'?QZ/ 50 xeA'L

4 f’?f{
vd ke Ay e CANAL Thus Ay SANAL

b) I alb, wrs A, € A, Let €Ay, o blx,

/
alb and bIX 7 alx  so  xeAa T hus

@ o O W XeY - XNY =X

Let XY, Siue X”YQX/ I ;Mﬁri&s 4o show
X ¢ XNY Le+ ¥€X, Siaee XQY, we  have ve Y.
Thas xeX =2 (xeX and XGY)/ 50 XQXOY.

() wTs X Ny=X = X=¥Y

Let XOY =X, Fix xeX, S

\(ex/ X € Xn\]/ /%]
well by X=xnY, But (e XNY = xeY, so Ye Y.



De Ma{jm{ Jaw )

But YSeX “er XY, amd by

@ Let A, B ke 3?\»«‘2/7_
chm.  AULB = (A\B)U(B \A)U (ANnB)
a/\zl +hat A\B ) B\A/ A N 6 Y3 ra;rw;Sc_ d_I‘_S_)'O\"I'F_

Ve A+ xeAUB & xeA or . x € B

The l‘?fﬁ ob saryation
xe A, xeB to be e which @

Pe%u)ms at jeatt ote @-p
be gtiied M exactly. o oF dle Lollowing way s’
e A and x¢B < x e ANG

éA wmd yep & Xe€ B\A
xe A and xe 3 e XxehANE

@ The A_{_“_c%udgan Pfo,:eﬂ—v_g . YabeN, 3“¢m§+mnq>b.
Yo

Let ae N be orbitary, and le+ 6:{56/,\]}”,6155 3
e(N§
by +he well- ordering  priaiple

FT50C, snq tHat S+D, o
+ s mnimal elerent byeS Sine bo€S, 24 s b,
b - a e N . But theq sine ¥neN
This contradicts

wmd thus b,-a vy O, e
COLERR we bave n.a = bo-d, S0 bo-a ¢35

e D e dude S = @ 2 \7/194”\] ﬂneN st



(12) & & ler Us X, WIS HX\UW) 21 K)NF(U),

Le+ ESQQCX)\“C(LO so TweX s+ Fooy=9 , bur

4 # ‘EC"‘) For a” W€ U Thus xe X\d sine@ L oxe U,
we. Wo»('A haue Lex) Fu bt we kuow 'PCX) = S\ne
e X\ and ':55-0(")/ 4 e NX\LA).

L) ,k f/ﬁ /TZ'(M\/)//XM/Q”)
A yYsv hen %?W/ﬁ/ﬂ\%é\/

L&+ we X be Ficed . T
ke LY\ € wst)e YAV 9(%34\/6’“’ «é {7

Thes XYY = FOY\Y).

) «> xe Y\F V).

K@ (Jb Injec‘r'mé', No/ NGV an —CC") =
Suryjectie:, No, 2 INUfo? but
sine J7 i i rotiona |l .

Q;Lx Wxe Z
E) lnject'we Nes }-70 XL:ﬂZ Hen X=4 o K=7Y \/){,‘jel)
Lut  si0ce XY eN we hawe xX=4.

Surjecti ! No, Je 7 but x*70 ¥xe IN.

) lajective: No, +(I) - | and ££1.5) <.
V’kél ond ZclR.

oy nut’
oy 40, J‘ 41 ‘ 4‘5 8/{?03}’
: V( guen/' o(r’ x Y47 L

Surye ¢ive Y% h( k)=

4) Injectine: Yes. 4;///‘2
Z- . 4/

rI/T)



IF xy both even amé =z T 5 ten X =Y,

» —(x-1) _ -y -1

[ %Y both 6dd and ——Kf i (?_n/ Hhen X-1=4~1 and X =9 .
Ths—ye—— e S TeRATaR

)«a A g even and Y 1S odé) note > [ ms)nre x> 7

yzl # 4-120 2 :Ql;)sé). Thus
asl""‘l"/é

while
! x4 2 FX) #Q@) md b4 contiop
| IV QCtj\ =5 x*Y . Thus we hart }/])\QC‘HJ\“"S.

by

?lu"je;driv:'ﬁ: )@ Yes, Lo+ k e 7 be. N\b;‘f*/\‘\zﬁj,
F k21, teq 2keMN and 2k is ewn o

_ 2¥X .
’CCZK) =5 T K.

F ko, #ey l-2kzl e F2eeN and -2k s
od&/ 56
-@(er\c)- - (—’—'—2—';—'9 - k. Thus ¥ s suryectiv

U .
M —_ s e .
—

@) NOK Bo«p gu(/}ec-ﬁve & QCPOQ) = Z
s(1) €7, sbfc es © s
S(p(x))g 5(\() > Z 99(‘0.

Thea since Z < 5(\(),

Bt ¥ N X 7



